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— ~ What does the following program print? (10%)

#include<iostream.h>
void function(int x[][3], int y[][2], int z[]]2])
{ for (inti=0;i<2; i++)
for (int j = 0; j <2; j++) {
z[i][j] = 0;
for (intk = 0; k <3; k++)
\ z[i][j] += x[i}ik] * yIkI[jl;

int main(void)

{
int x[2][3] = { {1,2, 3}, {4,5,6} };
int y[3][2] = { {1, 5}, {5,3}, {8, 1} };
int z[2][2];

function(x, y, z);
for (inti=0; i <2; i++) {
for (int j = 0; j <2; j++)
cout << z[i][j] <<'"
cout << "'\n';

return (0);

=~ What does the following program print? (10%)

#include<iostream.h>
int function(int x, int y)
{
int a=x>y)?x:y;
int b=x>y)?y:x;
if (b ==0) return (a);
else return (function(b, a % b));
} .
int main(void)
{
int x=24, y=20;
cout << "Output: " << function(x, y) << "\n";
return (0);
}

=~ What does the following program print? (10%)

#include<iostream.h>
class Position {
private:

double xp;
double yp;

public:

b

Position(void) { xp = 0.0; yp = 0.0; }
Position(double x, double y =0.0) { xp=x; yp=y; }
double X(void) const { return (xp); }

double Y(void) const { return (yp); }

void Set(double x, doubley) {xp=x;yp=y;}

inline ostream& operator<<(ostreamé& os, const Position& pos)
{ return (0s <<'(' << pos.X() << ", " << pos.Y() <<")); }

int main(void)

{

const Position pos_0(1.0,1.0);
Position  a(5.0, 6.0);

cout << "[EBL =" <<pos_O<<"n}
cout <<"a="<<a<<"\n";

a.Set(-3.0, 2.0);
cout << "a="<<a<<"n;
return (0);
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Y ~ Write a Dynamic Programming algorithm for determining an optimal bingry search tree.

(20%)

F + What is the time complexity 7(») of the nested loops below? Assume that »n =2* for
some positive integer . (10%)

i=n
while (i 21) {
=5

while (j<n){
<body of the while loop> // Needs 8 (1).
J=2%]

}
i=lir2}

" 75 ~ Describe how streaming video works. Streaming video refers to video you can play on the

Internet. (10%)

/

1= ~ Design a one-bit full adder, using AND, OR, and XOR gates. (10%

VANN

Suppose that a disk drive has 200 cylinders, numbered 0 to 199. The drive is currently
serving a request at cylinder 53, and the previous request was at cylinder 88. The queue

of pending requests, in FIFO order, is:
98, 183, 37,122, 14, 124, 65, 67.

Starting from the current head position, what is the total distance (in cylinders) that the
disk arm moves to satisfy all the pending requests for the following disk-scheduling
algorithms?

1. shortest-seek-time-first (SSTF) algorithm. (10%)

2. SCAN (elevator) scheduling. (10%)



